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input=Input((32,32,3),dtype='"float")
convl=Conv2D(32,3,padding="same',activation="relu')(input)
pooll=MaxPooling2D((2,2),padding="same")(conv1)
conv2=Conv2D(32,3,padding="same',activation="relu')(pooll)
pool2=MaxPooling2D((2,2),padding='same")(conv2)
conv3=Conv2D(32,3,padding="same',activation="relu')(pool2)
tran1=Conv2DTranspose(32,3,strides=2,padding='same',activation="relu')(conv3)
conv4=Conv2D(32,3,padding='same',activation="relu')(tranl)
tran2=Conv2DTranspose(32,3,strides=2,padding='same',activation="relu')(conv4)
output=Conv2D(3,3,padding="same',activation="relu')(tran2)
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def init (self):
super(). _init_ ()
self.convl=nn.Conv2d(3,32,3,padding=1)
self.pooll=nn.MaxPool2d(2)
self.conv2=nn.Conv2d(32,32,3,padding=1)
self.pool2=nn.MaxPool2d(2)
self.conv3=nn.Conv2d(32,32,3,padding=1)
self.tranl=nn.ConvTranspose2d(32,32,3,stride=2,padding=1,output_padding=1)
self.conv4=nn.Conv2d(32,32,3,padding=1)
self.tran2=nn.ConvTranspose2d(32,32,3,stride=2,padding=1,output_padding=1)
self.convS=nn.Conv2d(32,3,3,padding=1)
def forward(self,x):
cl=self.convl(x)
cl=F.relu(cl)
pl=self.pooll(cl)
c2=self.conv2(pl)
c2=F.relu(c2)
p2=self.pool2(c2)
c3=self.conv3(p2)
c3=F.relu(c3)
tl=self.tran1(c3)
t1=F.relu(tl)
c4=self.conv4(tl)
c4=F.relu(c4)
t2=self.tran2(c4)
t2=F.relu(t2)
cS=self.conv5(t2)
cS5=F.relu(cS)
return c5



